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Valaszadok szama = 20

Felmérés eredmények

Jelmagyarazat

5

Valaszok relativ gyakorisaga  Atl. elt. Atlag Median
e .. 25% 0% 50% 0%  25% ~ o
Kerdesszoveg Bal pélus I 1 Jobb polus gt—lgg{?gglseg
md=Median
elt.=Atl. elt.
tart.=tartozkodas
1 2 3 4 5
Skala Hisztogram
1. Student's assessment of the seminar teacher of the institute/course
. 0% 0% 59% 29.4% 64.7%
2 To what extent did the teacher keep to the formal ] : : > " =17
requirements (punctuality)? - borie3
elt.=0.6
1 2 3 4 5
. . . 0% 5.9% 59% 35.3% 52.9%
% To what extent were her/his explanations logical/ 1 : : : T n=17
understandable? v ' v
elt.=0.9
1 2 3 4 5
. . 7.1 0% 71% 42.9% 42.9%
9 To what extent did she/he allow/require ] : = = . n=14
independent and precise work? i v ' v
elt.=1.1
1 2 3 4 5
. . 0%  53% 105% 47.4%  36.8%
% To what extent did the seminars help you to learn ] > > = > n=19
the subject? L vy
elt.=0.8
1 2 3 4 5
. . . 111% 0%  56%  50%  33.3%
® To what extent did her/his seminars make you ; - - n=1e
interested in the subject? ' ' e
elt.=1.2
1 2 3 4 5
. . 0% 6.7% 6.7% 53.3% 33.3%
7 In sum to what extent did the seminar teacher ; - . n=ts
fulfill your expectation? 0 oy
elt.=0.8
1 2 3 4 5
Thank you for helping our work with your answers.
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Profil

. Student's assessment of the seminar teacher of the institute/course

n=17

12) To what extent did the teacher keep to the formal requirements (punctuality)? 1 atl.=4.6
n=17

13)  To what extent were her/his explanations logical/understandable? 1 atl.=4.4
j/ n=14

14)  To what extent did she/he allow/require independent and precise work? 1 atl.=4.1
J. n=19

15)  To what extent did the seminars help you to learn the subject? 1 atl.=4.2
j/ n=18

16)  To what extent did her/his seminars make you interested in the subject? 1 ‘ 4tl.=3.9
\. n=15

17) In sum to what extent did the seminar teacher fulfill your expectation? 1 atl.=4.1
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